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I Analysis of caveat in mwn — if she already married, x¥n &
a. Interpretation 1: relates to Rw1 (2 witnesses come after she remarries and testify that she was wR noRr)
b. Interpretation 2: relates to 820 (2 witnesses come after she marries [1n3] and testify that she was n"aw)
i. Analysis: if we apply it to XD, may not apply to Xw» — we are lenient regarding n»aw
ii. Suggestion: dispute is whether to accept 8111170 17's dictum
1. dictum: a woman is not capable of saying "you divorced me" if its untrue (>believed)
2. rejection: all accept his dictum; dispute is whether it applies in his absence
c.  addendum: she need not have married; once 71 issues her permit, c¢’est fini
i. challenge: conclusion is R¥n RY
ii. answer: R¥N RY means "she doesn't leave her earlier - permitted - status"
d. Addendum: if she claims she was a captive but is "1V - and has witnesses to support it — we don't wait for her
witnesses; we permit her to marry a 02 immediately
i. If: witnesses later come and can't support her claim — xx¥n 85
ii. If witnesses come and testify that she was, indeed, raped — even if she has children — x¥n
iii.  Story: involving YRnw's father, YR1nv, his daughters and their eventual captors and the 721 in »x
1. possible challenge: seems as if would witnesses come — Rxn
2. deflection: only if witnesses to her nkmv come would she have to separate
IL. s mwn: mutually supportive mTy
a. if 2 women were captured (and there are witnesses to that) and they claim »& 1110 — not believed
b.  however, if they testify to each other's nnv — believed
c. explicatory 817773 2 women captured, 1 testifying about both of them:
i. rule: any testimony she offers to benefit herself (n1110) isn't believed; both inversions are:
1. herself: nRnvY — believed
2. the other woman: nnnv — believed (NN — not believed)
3. therefore:
a.  if she says: NNV 'M1amM MR NRNY - believed on both counts
b. if she says: NRNY 'MIaM 7R 1ML — not believed (must be nrTy)
c.  if she says: we're both mrnv — believed only about herself (must be no n»7)
d. if she says: we're both mnv — believed only about the other (must be no n»y)
ii. challenge: seems as if 2"¢ and 4" cases involve witnesses, 3'¥ involves no witnesses
iii. answerl (»7aN): indeed — only "middle" case involves no witnesses
iv. Answer2 (899 "): all cases involve 071y; in 3" and 4t case, 1 witness inverts her testimony:
1. 1¢ case: she says »R nRnV etc. and 1 witness says she is 1NV
a.  result: she is NRNY (R”TN NWAIR RNW); the other is 7NV as per her testimony
2. 2" case: she says 2R NV etc. and 1 witness says she is nxnv
a. result: she is "NV (as per witness) and the other is 171V due to witness
3. 3" case: she says "we're both mrnv" and 1 witness says "you're both mmnv”
a. result: she is NNV (R”TN NVAIR ®NW) and other is "NV (witness)
b. question: why is this 3¢ case needed (same as 2"9)?
c.  Answer: X"10 both are mmnv and she is trying to "take her friend down with her" (as
per v. 2) — Y"np that we believe her vis-a-vis herself>nxnv
4. 4" case: she says "we're both mmnv" and 1 witness contradicts her
a. result: she is "RnY as per witness; other is 17nv based on her testimony
b. gquestion: why is this case needed (same as 1+)?
c. answer: R"10 believe her & permit the other only if she invalidates herself — 5"np
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II. ‘t mwn: another example of reciprocal testimony:
a. if 2 men come, each claiming to be a jn3 — not believed
b. if they testify about each other's n1n> — believed
i. 'm mwn: nm "1 disagrees and doesn't allow n1n3% nrYYn based on 1 witness
1. x": only if someone challenges his status; otherwise, we accept 1
2. 1o 2 pwnw 1 we always accept 1 witness for nnna% nrSyn
Iv. Justifying the need for all the examples of 7orw N
a. Ifwe only had case #1 (1 and the father's field):
i. I'would have said: he's believed because his 1% statement puts him at financial risk
ii. But: case #2 (witnesses claiming the signatures are invalid) have no such risk and their 2" statement
should be understood to be a reversal (> rejected)
b. Ifwe only had case #2:
i. T'would have said: witnesses are believed since their words affect another (only)
ii. But: case #1 is for his own benefit — not believed
c.  Ifwe had cases #1&2:
i. T'would have said: they're believed since it's (only) a financial matter
ii. But: case #3 (R"X admits she was married, claims also divorced) is MR — not believed
d. Once we have case #3: why do we need case #4 (captive who claims "1x n71n0”)?
i. Answer: for k90 — if she already married, X¥n &9
1. challenge: that only works according to the 7"n that it applies to Xa0
but: if it applies to Xw»1 (married woman)...”?
answer: because we need to teach case #5 — 2 captive women (P9n1)
question: why do we need case #5?
answer: we would think not to believe them, due to the reciprocity (p9nm)
if so: why do we need case #6 — (men testifying about each other's n11n2)
7. answer: to teach the dispute between 1129/nT7 '3 regarding TnR Tv 9”» NNN2Y RGN
V. Analyzing the dispute between 1127/nT7 '3 (part 1)
a. R 1 man testifies that he and his friend are o»n3:
i. 1317: believed for nman n%wA, not for pony
ii. M " not believed even for nm N - need 3 (a 3' who substantiates each's testimony about the
other)
1. contradiction: nmn 1 (here) doesn't accept reciprocal testimony; 1337 do
2. contra: regarding grain sellers, "’ 7 accepts reciprocal testimony about n”yIn nwan
a. answerl(27): switch the positions in "RnTT RN»72
b.  Answer2 (»7a8): no need to switch: we're lenient regarding »xn7
i. Challenge (¥37): that only answers N 3; what of 1327?
c.  Answer3 (837):
i. /1mi ’7. solved as per 7ar
ii. 37 both grain-sellers have their tools of sale out (reciprocity is obvious)
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